
Designed in Denver, CO • USA | pinnacle-ltg.com | O: 303-322-5570 SORREL-FORMS_Booklet_SEPTEMBER2024

AC Cable Installation ................................................................................................... 2-3 
Remote Box Details .......................................................................................................  4
Reflector Details .............................................................................................................  5

SORREL INSTALLATION
INSTRUCTIONS

SORREL Forms



Designed in Denver, CO • USA | pinnacle-ltg.com | O: 303-322-5570 SORREL-FORMS_Booklet_SEPTEMBER2024

1 LAYOUT 

A

B

A

B

C

Lay out mounting and Jbox locations. Power is at center mount of fixture.

AC CABLE
INSTALLATIONSORREL

PAGE 2 of 5

Mounting Locations
X2 X3 Y2 Y3

S3UF  
S3DF

A 28-1/2” 40-1/2” 46-3/4” 67-1/2”
B 56-7/8” 80-7/8” 40-1/2” 58-1/2”
C N/A N/A 27” 39”

S3NF A 28-1/4” 40-1/4” 46-1/2” 67-1/4”
B 56-1/2” 80-1/2” 40-1/4” 58-1/4”
C N/A N/A 26-3/4” 38-3/4”

For safety and proper leveling, all mounting suspension points at the ends and center of the light fixture must be used.



Designed in Denver, CO • USA | pinnacle-ltg.com | O: 303-322-5570 SORREL-FORMS_Booklet_SEPTEMBER2024

1 CENTRAL POWER MOUNT 2 NON-POWER MOUNT

IDS Clip
(by others)

2” Non-Power Canopy
(M-CNYP-02-01)

Coupler

1/4-20 Stud
(by others)

2” Non-Power Canopy
(M-CNYP-02-01)

Coupler

Grid Mounting Inaccessible Mounting

Key Hole Bracket

Bracket Screws

Cable Collar

10-32 Panhead Screws

J-Box
(by others unless 
grid mounting)

Power Side Canopy

Conductive Cable

Install 1/4-20 stud (by others) or IDS Clip (by others) for non-power mounts (1/2” 
below ceiling plane). Secure canopy to stud or IDS clip using coupler.

AC CABLE
INSTALLATIONSORREL

PAGE 3 of 4

Install key hole bracket to J-Box (by others). Run conductive cable through key 
hole bracket, and make wiring connections inside of J-Box. Use cable collar 
for adjustment or height and leveling. To adjust unscrew 10-32 panhead 
screw in collar, adjust to desired height and tighten screws completely to 
collar. Slide canopy up to ceiling plane.

NOTE: When mounting fixture make sure all legs of the form are properly supported. While leveling DO NOT higher or lower one side significantly more then the others  
as this puts  strain on the center hub.



Designed in Denver, CO • USA | pinnacle-ltg.com | O: 303-322-5570 SORREL-FORMS_Booklet_SEPTEMBER2024

1 SLIM REMOTE BOX TO GRID 2 SLIM REMOTE BOX TO SURFACE

#6-32x1/4 Screw

#6-32x1/4 Screw
Grid Clips 2x 1/4” Hardware

(by others)

To Building Power To Building Power

To Fixture To Fixture

1 STANDARD REMOTE BOX TO GRID 2 STANDARD REMOTE BOX TO SURFACE

To Building Power

To Fixture

To Fixture Grid Bracket

1/4” Hardware
(by others)

Sheet Metal Screw

#8-32x1/4 Screw

#8-32x1/4 Screw

Grid Tab

To Building Power

Place Remote Driver Box onto grid and bend grid tabs over securing with 
#8 Sheet Metal Screw. To open remote box remove three #8-32x1/4 screws 
on top of box. Use 1/2” Trade Knock out on high voltage side to connect to 
building power. Use 2’ long Flexwhip to bring power to J-Box.

REMOTE DETAILS

Remove Grid Brackets on sides of Remote Driver Box. Open Remote Driver 
Box by removing three #8-32x1/4 screws on top of box. Install Remote Driv-
er box to surface using 1/4” Mounting Hardware. Use 1/2” Trade Knock out 
on high voltage side to connect to building power. Use 2’ long Flexwhip to 
bring power to J-Box.

1 SLIM REMOTE BOX TO GRID 2 SLIM REMOTE BOX TO SURFACE

#6-32x1/4 Screw

#6-32x1/4 Screw
Grid Clips 2x 1/4” Hardware

(by others)

To Building Power To Building Power

To Fixture To Fixture

1 STANDARD REMOTE BOX TO GRID 2 STANDARD REMOTE BOX TO SURFACE

To Building Power

To Fixture

To Fixture Grid Bracket

1/4” Hardware
(by others)

Sheet Metal Screw

#8-32x1/4 Screw

#8-32x1/4 Screw

Grid Tab

To Building Power

Install slim remote driver box onto grid using pre-installed grid clips. To 
open remote box remove two #6-32x1/4 screws on top of box. Use 1/2” 
trade knockout on high voltage side to connect to building power. Use 2’ 
long Flexwhip to bring power to J-Box.

Remove two grid brackets on back of remote driver box. Open remote 
driver box by removing two #6-32x1/4 screws on top of box. Install remote 
driver box to surface using 1/4” mounting hardware (by others). Using 1/2” 
trade knockout on high voltage side connect to building power. Use 2’ long 
Flexwhip to bring power to J-Box.

SORREL

PAGE 4 of 5



Designed in Denver, CO • USA | pinnacle-ltg.com | O: 303-322-5570 SORREL-FORMS_Booklet_SEPTEMBER2024

PAGE 5 of 5

LENS DETAILSORREL
Squeeze lens near end cap and pry away from fixture using a putty knife. 
Pull down gently while sliding putty knife along the length of lens.

Beginning at one end, squeeze lens legs together and slide into fixture. 
Slowly insert rest of lens down the length of the fixture, snapping into place. 

DISCLAIMERS
This product must be installed in accordance with applicable installation and electrical codes by a
professional familiar with the construction and operation of the product.
Minimum 90° C supply conductor.
All electrical connections must be performed by a certified electrician to applicable local and national 
electrical codes.

Damaged components must never be used.
Contact Pinnacle prior to making any fixture alterations.
Contact Pinnacle with any installation questions or field issues.

1 LENS REMOVAL 2 LENS INSTALLATION


